
T8 

T11 T3 

T0 

T16 T19 

T2 

T10 

T15 T12 

T6 T17 

T7 

T18 

U = 240 [V]  
I  = 2.02 [µA] 

U = 440 [V]  
I  = 1.24 [µA] 

U = 320 [V]  
I  =        [µA] 

U = 350 [V]  
I  = 1.38 [µA] 

U = 220 [V]  
I  = 1.14 [µA] 

U = 265 [V]  
I  = 1.66 [µA] 

U = 310 [V]  
I  = 0.66 [µA] 

U = 220 [V]  
I  ≈ 1.52 [µA] 

U = 340 [V]  
I  =         [µA] 

U = 310 [V]  
I  =         [µA] 

U = 395 [V]  
I  = 1.30 [µA] 

U = 290 [V]  
I  = 0.56 [µA] 

U = 420 [V]  
I  = 1.84 [µA] 

U = 300 [V]  
I  = 1.84  [µA] 

Tower 1 Tower 2 Tower 3 Tower 4 Tower 5 

P1 
MB2 

P2 
MB2 

P10 
MB1 

P4 
MB2 

P5 
MB2 

P7 
MB3 

P6 
MB2 

P8 
MB3 

P9 
MB1 

P3 
MB2 

P11 
MB1 

P12 
MB1 

P13 
MB1 

P14 
MB1 

02/04/13 

11, 12 
15, 16 

9, 10 
12, 13 

5, 6 
7, 8 

5, 6 
7, 8 

7, 8 
9, 10 

3, 4 
4, 5 

7, 8 
9,10 

9, 10 
12, 13 

3, 4 
4, 5 

11, 12 
15, 16 

1, 2 
1, 2 

5,6,7,8 
0, 0 

1,2,3,4 
0, 0 

1, 2 
1, 2 

E Front 

CB 
slot 

EF0 EF31 
EB0 

EB31 
CsI 1 CsI 2 

CsI 3 CsI 0 


